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Seeme————-3 How much does a 34.5_‘15 weigh?

Z
A\s, NS sin@‘t ‘%‘3{*

| ﬂ@ AX=Y,cos&'

- . =V,si nBt “-"‘St
| ﬁ Sy o Yn® K=

Name: A=Y, S V,siabt =Lyt

2
9-25-14 Problems APl Ax =Yoo sin(2®

2@05“"@ -+

I. A rockisthrown at an angle of 35 0° to the _honzontai with a speed of 11.5 m/s. How far 3

R

2. A450kgmassis accelerated at 2.5 m/s’. (a) What is theé'orce)causmg this acceleratlon’? (b)

does it travel? - o p— — 'me.
o _ P cl 4im
2|q3m O':”‘[;’{s I e Q —_—:\{e:l S‘tﬂ (’zg ‘ﬂﬂ f—hC ﬁd‘—f
N . 3

A)(

If the mass of the c ou hat happens to the acceleration? -
SEmee = [, 1260 _ZF 7 halves
Fa = i

e A

y=mg = (395

m
. 4. A 2500 kg car experiences a net 250 N force, (a) what is the acceleration acting on the car? ——
(b) What is the car’s speed at the end of 35 seconds?
?)

_2F 2S04 )py . b V= V’Lé /’-ﬂ
Ry 0_74 ) y=at :0,/(35?) ;;'(m{ij

5. An artillery shell has a mass of 75 kgﬁfh)The projectile is fired from the weapon and has a

velocity of 670 m/s when it leaves the barrel. The gun barrel is 2.7 m long. (a) Assuming —

V=6 70"‘/ 5 the force and therefore the acceleration is constant while the projectile is in the barrel, what is

A =2 T a2 A

. 6. Aballis attached to a string and hangs from the ceﬂmg Draw a FBD of the/system. Label -

the force that acted on the projectile? (b) If the elevation anglei§752°, what 1s the heﬁzontal e .
range of the projectile? (a) 2F=mao =023 Y722 N b) vee gq‘“ 20
' ]

_V'&_\)'l ([9'7(37
a = Vel 2 83,120

the vectors.

L.,

9. Abook 31ts on a table. The book has a mass of 1.25 kg. Draw a free body diagram of the

thing.

1
i

J







